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doi : 3 Vmg JwU : 80
Time : 3 Hours Marks : 80

gd©gmYmaU gyMZm :

1. gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.

All Questions are Compulsory.

2. àË òH$ Cn-àíZ nmM JwUm§Mm Amho.

Each Sub-question carry 5 marks.

3. àË òH$ Cn-àíZm§Mo CÎma 75 Vo 100 eãXm§V {bhm. àË òH$ àíZmMo CÎma ñdV§Ì n¥ð>mda {bhmdo.

Each Sub-question should be answered between 75 to 100 words. Write every questions
answer on separate page.

4. 80 JwUm§À`m àíZn{ÌHo$Mo Amnë`m {ejUH«$_mÀ`m g§aMZoZwgma JwUm§V ê$nm§Va H$aÊ`mV òB©b.

Question paper of 80 Marks, it will be converted in to your programme structure marks.

5. àíZm~m~V e§H$m Agë`mg, _amR>r ^mfoVrb àíZ A{YH¥$V g_Omdm.

Incase of doubt of question, Marathi version will be treated as final.

1. Imbrbn¡H$s H$moUVohr Mma Cn-àíZ gmoS>dm. Solve any four sub-questions.

A) ~±H$ OwidUrnÌH$ V`ma H$aÊ`mMo _hËd d Amdí`H$Vm ñnï> H$am. 5

a) Explain need and importance of Bank Reconciliation statement.

~) ~±H$ nmg~wH$ {eëbH$ d amoH$‹S> nwñVH$mà_mUo {eëbH$ `mV \$aH$ nS>Ê`mMr H$moUVohr nmM H$maUo
{bhm. 5

b) Explain any five reasons of why the differences between Bank Pass-Book Balance
and Cash-Book Balance.

H$) ì`mnmar hþ§S>r d gmò  hþ§S>r `m§Mm AW© gm§JyZ Ë`mVrb \$aH$ ñnï> H$am. 5

c) What is Trade Bill and Accommodation Bill? Give the differences between Trade Bill
and Accommodation Bill.

S>) Imbrb _m{hVrdê$Z {X. 31-12-2012 `m VmaIoMm ~±H$ OwidUr nÌH$ V`ma H$am. 5

i) amoH$S> nwñVH$mà_mUo {e„H$ ê$. 15,000

ii) BVam§Zm 1,000 Mm MoH$ {Xbm na§Vw dgwbr H$arVm ~±Ho$V gmXa Ho$bm Zmhr.

iii) ê$.1,200 Mm MoH$ O_m Ho$bm na§Vw AÚmn O_m Zmhr.

iv) ê$. 600 Mm MoH$ ~±Ho$V O_m Ho$bm na§Vw Vmo AZmXa Pmbm.
v) nmg ~wH$mV ~±Ho$Zo 310/- ê$. ì`mO O_m Ho$bo na§Vw amoH$‹S> nwñVH$mV Ë`mMr Zm|X Zmhr.
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d) Prepare Bank Reconciliation statement as on 31-12-2012

i) Bank Balance as per cash Book Rs. 15,000

ii) Cheque issued of Rs. 1,000 but not presented for payment

iii) Cheque of Rs. 1,200 deposited into the Bank but not collected.

iv) Cheque of Rs. 600 deposited into the Bank But it was dishonour.

v) Bank credited Pass-Book for interest Rs.310/- but not recorded in cash Book.

B) Imbrb ì`dhma A{ZbÀ`m nwñVH$mV (amoO{H${X©V) {bhm. 5

A{ZbZo gw{Zbbm 3 _{hZo CYma _mb ê$. 20,000 Mm {dH$bm d Ë`mM _wXVrMr hþ§S>r H$mT>br. gw{ZbZo
hþ§S>r pñdH$mabr. A{ZbZo ~±Ho$V Ë`mM {Xder 10% dm{f©H$ H$ama Zo dQ{dbr.

e) Pass journal entries in Books of Anil : Anil sold goods to Sunil for 3 Months credit of
Rs. 20,000 and draw a bill. Sunil accepted it. Anil discounted with Bank at 10% p.a.
discount at a same day.

2. Imbrbn¡H$s H$moUVohr Mma Cn-àíZ gmoS>dm. Solve any four sub-questions.

A) hþ§S>rMm Z_wZm V`ma H$am. 5

AmXoeH$ : lr. A{Zb JwßVo, nwUo.

AmXo{eVr : lr {dO` qeXo, Zm{eH$, aŠH$_ ê$.5,000, _wXV 3 _{hZo.

hþ§S>rMr VmarI : 1-1-16 pñdH¥$VrMr VmarI : 3-1-16

a) Prepare format of Bill of Exchange.

Drawer : Shri Anil Gupte, Pune

Drawee : Shri Vijay Shinde, Nashik, Amount Rs. 5,000 period 3 months

Period - 3 month, Date of Bill : 1-1-16, Date of Acceptance - 3-1-16.

~) Kgmam åhUOo H$m`? ho gm§JyZ pñWa à^mJ nÕVrMr g{dñVa _m{hVr {bhm. 5

b) What is Depreciation? Give the detail of fixed installment method.

H$) Imbrb _m{hVrdê$Z dm{f©H$ Kgmam H$mT>m. 5

H§$nZrZo EH$ ̀ §Ì ê$.50,000 bm {dH$V KoVbo. ̀ §Ì ~g{dÊ`mgmR>r ê$.2,000 IM© Pmbm. Ë`mMo A§Xm{OV
Am ẁî` 10 df© d Ad{eï> _wë` ê$.5,000.

c) From the following information find out annual depreciation :

Company purchased machinery Rs. 50,000 Installation charges Rs. 2,000. Estimated
life 10 years and Scrap value Rs. 5,000.
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S>) Imbrb _m{hVrdê$Z §̀Ì ImVo pñWa à^mJ nÕVrZo {bhm. \$ŠV 2 dfm©gmR>r §̀Ì IaoXr {X. 1-4-12

ê$.60,000 Am{U 1-4-13 ê$.40,000 Kgmam Xa 10% dm{f©H$ df© 31 _mM©bm g§nVoo. 5

d) From following information prepare machinery account for 2 years. Under fixed
instalment method. Machinery purchase on 1-4-12 Rs. 60,000 and 1-4-13 Rs. 40,000.
Rate of dep. 10% p.a. Year ending 31 March every year.

B) ^mJrXmarMr ì`m»`m {bhm. d g{H«$` ^mJrXma d {ZîH«$s` ^mJrXma `mVrb \$aH$ ñnîQ> H$am. 5

e) Define Partnership and give differences between active partner and sleeping partner.

3. Imbrbn¡H$s H$moUVohr Mma Cn-àíZ gmoS>dm. Solve any four sub-questions.

A) ^mJrXmarÀ`m H$moUË`mhr XmoZ àH$mamMr g{dñVa _m{hVr {bhm. 5

a) Explain the details of any two types of partnership.

~) ~XbË`m ^m§S>db nÕVrZo "A' Mo ^m§S>db ImVo {bhm. 5

"A' Mo ^m§S>db ê$.30,000, ^m§S>dbmdarb ì`mO 10%, CMb ê$.5000, "A'À`m {hí`mMm Z\$m
ê$.8,000, "A'Mo H${_eZ ê$.4,000.

b) Prepare 'A' Capital Account under fluctuating capital method. A's Capital Rs. 30,000,
Interest on capital 10%, Drawing Rs. 5,000, A's share profit Rs. 8,000, A's Commission
Rs. 4,000.

H$) Imbrb _m{hVrdê$Z "ì`mnma ImVo' {bhm. 5

àma§̂ rMm gmR>m ê$.16,000, IaoXr ê$.30,000, {dH«$s ê$.80,000, IaoXrnaV ê$.3,000, {dH«$s naV
ê$.5,000, _Oyar ê$.10,000, H$maImZm IM© ê$.2000.

c) From the following information prepare Trading account.

Opening stock Rs.16,000, Purchases Rs.30,000 Sales Rs.80,000, Purchase return
Rs.3,000, Sales Return Rs.5,000, Wages Rs.10,000, Factory expenses Rs.2,000.

S>) Imbrb _m{hVrdê$Z "Z\$m-VmoQ>m ImVo' {bhm. 5

T>moo~i Z\$m ê$.36,000, H$_reZ {_imbo ê$.4,000, doVZ ê$.12,000, N>nmB© IM© ê$.3,000, {dH«$s
dmhVwH$ ê$.2,200, ~wS>rV H$O© ê$.800, àdmg IM© ê$.2,000, {dO{~b ê$.1,000. lr {demb
Am{U {H$emoa Z\$m dmQ>Ur à_mU 1:1 .

d) From the following information prepare 'profit and Loss account' Gross profit
Rs. 36,000, Commission received Rs. 4,000, Salary Rs.12,000, Printing Rs.3,000,
Carriage outward Rs.2,200, Bad debt. Rs. 800, Travelling Expenses Rs.2,000, Light
Bill Rs.1,000. Shri Vishal and Kishor Sharing profit equally 1:1.
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B) Imbrb ~m~r dê$Z Vmio~§X V`ma H$am. 5

"A'Mo ^m§S>db ê$.60,000, Z\$m ê$.20,000, "~'Mo ^m§S>db ê$.40,000, Z\$m dmQ>Ur à_mU 3:2,
B_maV Rs. 80,000, §̀Ì Rs. 30,000, \${Z©Ma Rs.10,000.

e) Prepare Balance sheet from following :

A's Capital Rs. 60,000, B's Capital Rs.40,000 Net profit Rs. 20,000, Profit Ratio 3:2.
Building 80,000, Machinery Rs.30,000, Furniture Rs.10,000.

4. Imbrbn¡H$s H$moUVohr Mma Cn-àíZ gmoS>dm. Solve any four sub-questions.

A) Imbrb _mb_Îmm "pñWa _mb_Îmm' d "ApñWa _mb_Îmm' Ago {d^mOZ H$am. g§̀ §Ì, ‘moQ>ma d dmhZo,
CnH$aUo, amoH$S> G$UH$mo. 5

a) Divide the Assets in 'Fixed Asset' and 'Current Asset'. Machinery, Motor Vehicle,
Loose Tools, Cash, S. Debtors.

~) Z{dZ ̂ mJrXmambm àdoe XoVmZm H$moUË`m ~m~r/KQ>H$ {dMmamV ¿`mì`m bmJVmV? 5

b) Which are the units/items are consider while admission of new partner?

H$) g§ñWoÀ`m amoO{H$XuV Imbrb Zm|Xr H$am. 5

Z{dZ ̂ mJrXmamZo ̂ m§S>db ê$.50,000 Am{U Zmdbm¡{H$H$ _wë` ê$.20,000 AmUbo. Zmdbm¡{H$H$ _yë`
OwZo ^mJrXma "A' d "~' Zo gmaIo dmQy>Z KoVbo. B_maVrMr qH$_V 5,000 Zo dmT>{dbr.

c) Pass Journal entries in the books of firm.

Incoming partners brings capital Rs. 50,000 and Goodwill Rs. 20,000, Goodwill shared
by old partners A and B equally Building appreciate by Rs. 5,000.

S>) _¥V ^mJrXmamÀ`m dmagXmambm Xò  Agboë`m aH$_m gm§Jm. 5

d) Which are the amounts payable to legal heir of dead partner?

B) Imbrb _m{hVrdê$Z "bm¡{H$H$ _yë`' H$mT>m. 5

g§ñWoMo bm¡{H$H$ _wë` ho _mJrb nmM dfm©À`m gamgar Zâ`mÀ`m {VZnQ> EdT>o Amho. _mJrb nmM dfm©Mm
Z\$m. AZwH«$_o ê$.30,000, ê$.20,000, ê$.10,000, ê$.40,000, ê$.25,000.

e) From the following information find out value of Goodwill. Goodwill of firm to be
valued three year purchase of previous five years, Average profit which were Rs. 30,000,
Rs. 20,000 Rs.10,000, Rs.40,000, Rs.25,000.
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